
Axelent X-It
Assembly Guide

BG

CZ

DE

DK

EE

ES

FI

FR

GR

HU

IE

инструкции за монтаж
Montážní návod

Montageanleitungen

Monteringsvejledning

Paigaldusjuhendid

Instrucciones de montaje

Kokoamisohje

Les instructions d’assemblage

οδηγίες συναρμολόγησης
Összeszerelési utasítások

Treoracha cóimeála

(X-It for X-Guard’s hinge door)

IT

LT

LV

MT

NL

PL

PT

RO

SE

SI

SK

Istruzioni di montaggio

Montavimo instrukcijos

Montāžas instrukcijas

Istruzzjonijiet għall-immuntar

Montage-instructies

Instrukcje składania

Instruções de montagem

Instrucțiunile de asamblare

Monteringsanvisningar

Navodila za montažo

Návod na montáž



2



3

XIT-L01-000
*(-L02-)

M5x20

x1
M5x20

x1 x4
M8x35

x1

x1XIT-000-101 x1 x1

x1

x1 x1

XIT-0XX-X01
X-Guard

x1 x1

*XIT-002-001
X-Guard

x1

x1

x1x1 x1

x1x1 x1

XIT-R01-000  
*(-R02-)

M5x20

x1
M5x20

x1 x4
M8x35

x1

x1

x1

T01-26

x1 x2

XIT-000-301 XIT-000-401

XIT-0XX-X02
X-Store

XIT-000-102 XIT-000-302 XIT-000-402

XIT-0XX-103
F

XIT-0XX-104
FK

B00-022 

x2 x2

M8x34 M8x17



4

1

2

3

45°



5

4

5

X-Guard  Page 6

X-Store  Page 7

F/FK  Page 9

XIT-002-001  Page 10



X-Guard

6

1 2

3 4



7

5 6

X-Store

1 2



8

3 4

5 6



9

F/FK

1 2

3 4



10

XIT-002-001

1 2



11



Welcome to a safe world!

Axelent’s head office is in Hillerstorp, Sweden. All product development, 
production, storage and packaging is carried out here. Our production is 
high grade automated to manage high volumes and speedy deliveries.  
Our machines are specially designed to meet our high efficiency, quality 
and intelligent flow demands. As all our standard products are in stock,  
we can ship your order the same day as we get it.

Made in Hillerstorp. Works worldwide

G
B

18
01

_2
.0

AXELENT AB · BOX 1 · KÄVSJÖVÄGEN 17 · 335 04 HILLERSTORP, SWEDEN  
+46 370  37 37 30 · SALES@AXELENT.SE · WWW.AXELENT.SE


